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O 2g=+d¢ 4,200
0 QIAIRIRS] X E 70,0002 %521x123] 4,200
02 SE5=4H| 6,000 6,000 0
O g2z =g= 6,000
0 d= A&z g2l 5,000,000 5,000
0 89 A&z 3l 1,000,000 1,000
03 A= 10,240 10,240 0
O ZFE0, FQUANHEH S AUHEE=S
NESS 3,640
0 &9 110,000 *3IH A+82] 2,640
0 E=2= 5002 *25+1,000F 1,000
O &9 =g 23433 4L UUNS
3,0002+10021*x 115223 6,600
202 Ol 36,000 33,600 2,400
01 U0l 36,000 33,600 2,400
O Jl=gR==d0tl 36,000
0 HESEHRSMUHl  200,0002+82!x 128 19,200
0 PO 200,000 *401x 122 9,600
0 SR 100,000 *32!x 122 3,600
0 QI2b015| MAIA R REZI 01|
150,000 %221 %122 3,600
203 HR=&H 98,500 98,500 0
03 A=A R =L 98,500 98,500 0
O ENRXl S NGB HEds A=A
100,0002 *1021%122] 12,000
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O J88 GECAl JIuE AgEd
100, 0002621 103! 6,000
O XHsSH2 BES AEE
100, 00021 #6021 103 6,000
O &Y SENY S8 AIM ARSX
100, 00021001 12| 12,000
O QrEPI2] U QIMOIEIHE AR
100,00024%621+103] 6,000
O BrUoEAIY BASH AIBEZ
100, 0002 *1021%93] 9,000
O LUDBAASH AMEZ
100, 00024+1001% 12| 12,000
O MEA =MST AIMEZ
100, 00021 #6021 103] 6,000
O RSMFES 98 A2 EX
100,00024%621+103] 6,000
O =MAE AL AIMEX
100, 0002621 103] 6,000
O WSS (YD AMEX
115,0002+1021% 103 11,500
O FQ#A S HLFT  100,00020+621+103] 6,000
301 LB BAS 3,300 4,950 A1,650
11 JIEr2 A 3,300 4,950 A1,650
O 2B (STHL N2 23| &4
10,0002 1501%251% 11524 3,300
303 TS 37,500 30,600 6,900
01 A= 37,500 30,600 6,900
O ENTRY Al 7,500
0 221 20,0002+ 150! 3,000
0 JISBNE(SARHME) 300,002+ 150! 4,500
O EXUEI2Y 22 1,000,0002%159! 15,000
O ZHRTJLY A4 50,00021+4021+23] 4,000
O STHAEAAL A4 7,000
o4 3,000, 00021 Al 3,000
0% % 2,000, 00021 Al 2,000
0 2 1,000,00021x2742 A 2,000
O 269 JIREEA0 2424 Al 4,000
0z 500,000 x47H= A 2,000
0% % 300, 0002 *4)H 2 Al 1,200
0 2 200, 0002 *40H =2 Al 800
308 XHXISHHISOIH 2,000 0 2,000
07 MR SHIEED 2,000 0 2,000
O HIS0EXAZLE0/3 B3| b=
2,000,002 2,000
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02 )1 2SO0ICHSCH AL 3,980 2,700 1,280
O CIANFHEAIAY R+ 3,980,000 3,980
DAAL 2 2IE R XA 3,500 3,500 0
307 212401 3,500 3,500 0
04 DIZHHEAIAIHE X 3,500 3,500 0
O IVUECAY Q1201 Sl UALA (S AL
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2SN S 29 N2 25,000 20,000 5,000
201 deL=2 | 25,000 20,000 5,000
03 &A=& 25,000 20,000 5,000
OASHAS 22 98 2B57Y
25,000,000& 25,000
JIE=ae 6,520 554,520 548,000
201 deH=2 | 4,720 19,720 /15,000
01 AtR22|H 4,720 4,720 0
o152 & 4 EXEE 7Y 2,000,000 2,000
OJIZSTIIRIAE I ALY
70,0002 %321%22] 420
OJIS2u= 2d 2ME 500
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0. LEHZA} 200,000 200
ORYX TY(NLHH, TAISH)
3,000 *x25+252+ 122 1,800
405 KHebs =H| 1,800 534,800 533,000
02 =M= 1,800 1,800 0
OdEIzs A7 15,0008 #3022 *42] 1,800
OHZH W= 80,230 85,230 5,000
=U £ IHRE WFAH 80,230 85,230 5,000
201 £EH= & 18,730 13,730 5,000
01 AtR2t2|H 5,230 5,230 0
Oggt=EH] 4,230
0.2 MR (XI0H, RS) Al A S
300,000 3L *43] 3,600
0.8 70,0002 *32|*30H 630
Ogxt= 1,000
0. KOHZAXIXI M =H SR
500,000 *2CH 1,000
02 ES=2gH| 5,000 5,000 0
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03 A2 H| 8,500 3,500 5,000
ORFHA 2 8,500
0.0/23 7Y 200,002+ 107H+33] 6,000
0.90F U BADIZS BHHE
200, 000242 7+53] 2,000
0.9188 BLIY 7Y 50,0002 +27H#53] 500
202 O1H| 20,000 30,000 A10,000
04 2301 20,000 30,000 A10,000
O 2HRREA DRSHAIY =&
20,000,0002! 20,000
01 YAz 26,500 26,500 0
06 BI2toI=2I0iH] 10,000 10,000 0
O ZHRREA DESHAY XX
10,000, 0002 0,000
07 SIBIEH 01| 16,500 16,500 0
ORI, LEEA 2IWIES 16,500
0. e 100, 00021%3021+324 9,000
0.4 H 50,0002+3021+52 7,500
306 E12 15,000 15,000 0
01 B2 15,000 15,000 0
OYALE U=D8 82 JI2 15,000,002 15,000
=22l 26,707 22,754 3,953
= 5,248
2 21,459
INEREIY 14,650 10,332 4,327
101 Q124H] 4,427 4,320 107
SIED =] 4,427 4,320 107
OZZ2IN o2l L 2EE
50, 78024+27 21 24x80%+ 110% 1,207
OEAZRIT Q21| & 282
50, 780%4%27 2% 12 %80%< 1 10% 1,207
OEXAXI 22X Q12| & 282
46, 320127 2x 124800+ 110% 1,101
OYLIAD oIl ¥ 28l
46,3202 x24 25 1241800+ 102. 5% 912
201 et H] 0,232 6.012 4,220
01 AFR22IH] 10,232 6.012 4,220
OZSZAR +g 48,4702 +26 2% 102 +80% 10,082
OEXAIEE 7 10,0002+ 152 150
ETENEEIN 5,248 5,567 ~319
= 5,248
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101 Q124H] 1,968 1,827 141
[= 1,968
04 JIZtNI22REE 1,968 1,827 141
OXARZRI R Q14| & B2 (EHI)
50,7802%252«1H*102. 5% 1,302
[= 1,302
OUSLHALH QI24H| L BEI2(SHI)
46,3502 * 72U %2 *102. 5% 666
[ 666
201 LBt YH| 3,280 3,740 460
[ 3,280
01 AFR2t2IH] 3,280 3,740 460
OEZSXZAR QIAH|(EHI)
(12,1204 %800}+ 7448, 47024 ) «3H 3,055
[= 3,055
OAREE 7¢ 225,000 225
[= 225
EHZARZZ 6,800 6,855 55
201 LBt HH| 6,800 6,855 55
01 At22t2IH] 6,500 6,555 55
OSHE 22t 37,00024%150R 5,550
OLE SHXA &2 L X2 ME
55,0004 %1070 A 550
OSHZAIZR AIREE L ARE 2
100,000 %43 400
02 22 29| 300 300 0
OSHgE ¢&8 28 7Y 3,00024%1002 300
ANz 24,398 39,448 15,050
BN 222 24,398 39,448 215,050
UL 2 20,298 35,348 A 15,050
201 LBt YH| 15,298 18,348 23,050
01 At22t2IH] 9,898 12,348 A2,450
OLEZ 222 SENH 7,000 «3000H 2,100
OFALZ EH2D1.201. MOK22| 2 2,748
0.223(53D1) 18,0002 *3Z 1204 648
0.88S ZEIATSII)
10,000R1%3Z 7004 2,100
F=Q Jt24 J12J| | 5,050
0.Jt221(8521) 5,000 35004 1,750
0.Jt2J| 20| 15,0002« 15004 2,250
0.2t27] 2h 3,000213500H 1,050
03 A2 Y] 5,400 6,000 AB00
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A -3 - SRA(ZH) - MRAY - BES Oll &+t Ol] AkoH HwE2
O=U2nE 4 2a5ds o 2279
30,0002+302§63] 5,400
203 RE Y| 5,000 5,000 0
EPNEESSISEEST 5,000 5,000 0
O 2LIsE ARET 200,002+ 102] 2,000
O g2zl & F2uA =X
50,0002+ 10| 1,500
O SHRE AHEZT 50,0002+ 10| 1,500
BHNHIA BB 2Y X A2 4,100 4,100 0
201 B2 ] 1,200 1,200 0
01 AFR22IH] 1,200 1,200 0
OBFMHIA S22 MZ  5002=+1Z+1,0000H 500
O3.1% JIG8A X 700,002+ 1] 700
01 LB BAS 2,900 2,900 0
09 EAAEI2AS 2,700 2,700 0
OJlEal BuZA(AAE, B2E)
150, 0002/%921+23] 2,700
11 JIEt2 A2 200 200 0
OBIMLIABZAZEIIZA  10,0008x203] 200
THLtors 2| 208,934 151,049 57,885
2 4,858
= 7,244
2 196,832
EEESE IV EEST 147,329 89,444 57,885
2 4,858
= 2,429
2 140,042
ST 27,770 27,430 340
201 Er2Y| 17,570 17,230 340
01 AFR22IH] 14,570 14,230 340
O et 9,600
0 THAQHEBRIHZA HX  60,0002+1005 6,000
0 QM SZS HX  4002%3,00004+3% 3,600
O 2y+g 3,500
0 OHNZIRIPIRE (ARAIRE) B L
70,0002+ 1001+53] 3,500
O SI(HHLRER) 7,00021301%702 1,470
03 BA2 L] 3,000 3,000 0
O MHHTS oRS=ER 2HI(13])
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MO CH At E A2 H 2,260 3,020 AT60
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O ger=ZH| 1,000
0 MoEtIMAg A2 2270
1,000,000 1,000
O SEHI(Q XU ML ASA DD T)
7,0002x221x00 1,260
MeRIEALE ot 2te| 1,900 2,800 A900
201 e | 1,000 1,000 0
01 At22teld| 1,000 1,000 0
Ogt=2H| 1,000
0.MHRAEAE2 FA2e 1,000,000 1,000
301 LB AZ 900 1,800 A900
09 SAtAHIEAZ 900 1,800 A900
OtMAEH MBI =LA(XI|,JIA, 2145 S)4&
HIE & 50,0003 *321+63] 00
2s0| erMze| 23 78,759 45,414 33,345
101 2I244| 60,499 34,074 26,425
04 I H22NSES 60,499 34,074 26,425
=2=0| oA |A oIF
44 6403 *50L*20H 44,640
O =xt==¢ 44 6403 *10€*20H 8,928
O &HEE 53,568,000 *4% 2,143
O HZ=EE 53,568,000 *3.035% 1,626
O NEEE 53,568,000 *1.3% 697
O =0z 53,568,000 *4. 5% 2,411
O Lo LESA 1,626,000&*3.275% 54
201 B2 | 10,260 7,340 2,920
01 AtR2elt] 10,260 7,340 2,920
Ogt=2H| 10,260
0.2=01 SHEAID Y S22 HE
200&*5,0000H*28 2,000
0.2=0] 22| RE ABRE FA(X2N, &
2+, 211 60,0002 *30H 1,800
0.119AIB =& R0 OIS 60,0002+ 16H 960
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0.2=0] OHEAID oflgr &40 M=
55,0002 * 10001 2 5,500
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S=0| OHEAL &R 9,715 10,780 A1,065
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= 2,428
201 Let2HH| 9,715 10,780 A1,065
= 4,858
[= 2,429
= 2,428
01 At22eIH] 9,715 10,780 1,065
O2s0| HAAIM A 9,715,000 9,715
= 4,858
[= 2,429
= 2,428
2L A3 ESAY 26,925 0 26,925
201 L2 Y] 26,925 0 26,925
01 At22telH] 26,925 0 26,925
Ot OI2S2s A 22
25,0004 %3597 A *3CH 26,925
QN2 S5t 61,605 61,605 0
[= 4,815
= 56,790
OISR ALY 16,055 16,055 0
[= 4,815
= 11,240
201 LEH2 Y] 16,055 16,055 0
[= 4,815
= 11,240
01 AtR2t2IH] 16,055 16,055 0
O 2 %] 16,055
0.t 232 S ALY =X 16,055,000 16,055
[= 4,815
= 11,240
N 2SIR2EXR 2,550 2,550 0
301 Lt A= 2,550 2,550 0
09 SAtAHI B A2 2,550 2,550 0
OCHHZHECH WS 2 SHAL &t
50,0004 %501x335] 750
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21X Ol X 2 (M2 OHF) 15,000 25,000 10,000
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OZSIYLIISH HAAH 243
1,000,002+ 114 S8 11,000
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2 7,700
DIgte| Be2Y 147,742 105,861 41,881
2 1,665
= 6,666
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201 Br2H] 16,100 17,660 A1,560
01 ArR22IH] 1,700 1,700 0
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